3 ABCo|7] 9

el

b
Yo

el

¥
Yo

B

O

bRz opt,
® oFx



2.

a.b7F AL T, p7t gol7] AT BaFE 2ol

a4+ b2=0,g9: la+p=0
:a=0,q: la+bl=la->b|
Clal=1bl, g: a® = b?
a+b>0,ab>0,qg: a>0,b>0

clal+ bl >la+bl,q: ab<0

ofd ZA2?



® PuUQ=U ® PcQ

® PNQO=0o

® Qg =P

@ QcpP



4.

/\ﬂ =z
A z 1=R
=44 p
. q, rol
tfjsto]
g= po Bax
A
A, q1_
=ro %
X
L—I—Z__I

e
= po TEx
L—LZjO]]iI—
. o] of
P
= r©
17] e e
£ 2791

2},
Be

%
&)



[y

® a o HAL 1, b o] Mkt -
@ a °f HWL -1, b 9] H&Fk1
® a9 HAE 5, b o] H3gk -1
@ a o HUAF -1, b ] HEE 5
©® a o] AL 5, b o] XS5k 5



